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(1) e Rt (2) & FAR

(3) e ft (4) e

Who among the following has been awarded as the ‘Best actor’ (male) at the BRICS film festival
2021 ?

(1) Nawajuddin Siddique  (2) Akshay Kumar
(3) Pankaj Tripathi (4) Dhanush

2022 T WHSd Sreggm o WK HOR Ufees IRefta sifoeharera hror o 2

(1) TR J0H & (2) ITIH FARX T&A

@) T g @) <= sEeER

Who is the first Indian Physicist to win the Prestigious Boltzmann Medal for the year 2022 ?
(1) Professor Deepak Dhar (2) Ashok Kumar Barua

(3) Bimla Buti ' (4) D.D. Bhawalkar

JifEa 2020 (T TTE-H@R 2021 ey o) ﬁu@mwmmmmmm
T S0 AR ? : ,
(1) EH Sl @) fe 9o () T &M 4) R @

Who is the First Indian Woman to win two medals in the Tokyo 2020 (held in Aug-Sep 2021)
Paralympics Games ?

(1) Avani Lekhara (2) Bhavina Patel (3) Ekta Bhyan (4) Kashish Lakra

el e FRAERIS Haramet 2022 Tl HIVR FoT Ao JAfTeH Tl Fo H 3 ?

(1) TR A (2) M =@ A

@) dwwrfEm (4) T A

Which Credit Scheme is launched for Prisoners of Yerwada Central Jail in 2022 as a Pilot
Scheme ?

(1) Sahanubhuti Scheme (2) Aage badho Scheme

(3) Bank for Prisoners (4) Jivhala Scheme

9T Szl 6 S st grAGRAM (GODT) @1 Tl 2021 <A1 SEOAR St snfer
Pl U R o R i ST,

(1) 9a4 ) fida 3) 5 (4) T

As per Report 2021 of Global Observatory on Donation and Transplantation (GODT), India has

bleen ?nked in Organ donation and transplantation in World.
(1)  First (2) Second (3) Third (4) Fifth
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oy e e (@) Frem g A
) arefor fat 4) few aem 10.
; : ’
f/\/ilo is the author of the book, ‘Beyond Possible’ ?
(1) Bernadetee Mcdonald (2) Nimsdai Purja
(3) Arunima Sinha (4) Stephen Alter
v GO FIUE G ST e’ HIEHI Helftd TR 2
(1) < QR (2) Y HYRY
(3) A (4) AU
Which of the following option is associated with Amrit Sarovar Mission ? .
(1) Water Conservation , (2)  Soil Conservation 1
(3) Air Pollution (4)  Fishery

&‘mﬁﬁmWmeﬁﬂWWmﬁ@mw

() @ A 2018 TE foR WHRA GE FHodl.

(b) RIS HITE! AR 2 A= T Y AL

(© @At ﬁzqmam?ﬁﬁwmm@ ST AT TG T A
urm@mawtm@%)@MWMW)@zm“.q
Which of the following statements are correct about the ‘Mukhyamantri Tirth Yatra Yojana -
(@) This scheme is initiated by Delhi government in 2018.
(b)  Any citizen of India can avail this scheme.

. . L. % eme.
(9 Ayodhya is recently included in the list of places that one can visit under this sch
Answer Optiong :

D Wm0 @) Only ) and g (3) Only (o and @ () Alloftrean™

TSig i Ty @
# A W'WWWWWWWWMQWW

4re? :

Rajiv Gandhi Orang National Park, whi 25 Oran National Parks

which Indian State ? Which has been renamed as &

(1)  Andhra Pradesh (2) Karnatakq (3) . Assam 4)

Uttarakhar
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A
s e/ el (R - Aen ol fret i)
& ) qfecht WA - A T ferer uReg s, 2022 79 SRR oA s,
a
Eb) TR, SHARIEM & TR 41 fire] aRucd Sufter B,
wate ST
(1) W (a) (2) W (b) B) @IMG)IF (@) =
Select the correct statement/s - (India - Central Asia Summit)
(@) The First India - Central Asia Summit held in January, 2022
(b) Republic of Tajikistan, Republic of Uzbekistan were present for the Summit.
Answer Options : : )
(1) Only (a) (2) Only (b) - (3) Both (a) and (b) (4) None of the above
11, 72022 HEA R STRINT=T SUEASTIE] WAGUh! hIvm=! g Hvard am?r?i
) TEFR () TWIHR (@) TS (4) TEFF
Who has been appointed as a new Vice Chairman of NITI Aayog in May 2022 ?
() Rajiv Kumar = (2) ‘Ramesh Chand (3) Jayati Ghosh- (4) Suman K Bery
12. GRS SHIOR W IO Yoidie! I e v { gan fam wrlwn e’ e fae SRty
AT T 3T 2
(1) IFREE - I TG AL Ahian STKHISH Teft
() v e R Yex (BARC) (11 SRRt Wehed #%)
() ¥ g e SHEERvE (ISRO). (MR SieIes WYY Her)
(4) fe e ofe Txouiiz sifamsrm (DRDO) (H&OT HEie 3nfor ferhrd Here)
Which of the following Organisation is organising a special programme for school children called
“Young Scientist Programme’ “Yuva Vigyani Karyakram’ “YUVIKA’ ?
(I) UNICEF - United Nations International Children’s Emergency Fund
() Bhabha Atomic Research Centre (BARC)
() Indian Space Research Organisation (ISRO)
“) Defence Research and Development Organisation (DRDO)
13,

= T
AW / spacE FOR ROUGH WORK

‘Wmmm,wwmm' & o feamreh o om ?

D) ¥ v fearg (2) SR Tew feaw
,(;) S S feer (4)  <mfer s =

fMove laws that harm, create laws that empower’ is the theme of which day ?
o Zero Discrimination Day (2) . World AIDS Day

W .
orld Equality Day (4)  World Social Justice Day

- PT.O.
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14.

E WZ; A () =i, S

) S ‘

(g) < . THTFOH (4) . Tl A | |

3 has been appointed as the chairman of the ISRO, the Indian Space Research Instity,

in January, 2022,

z?)JaIIIlDI:.I)I(. Sivan (2) Dr.s. Somnath

(3) Dr. K. Radhakrishnan (4)  Prof, MGK Menon
15. STl ST ek T 2020 Wrer ﬁuwwﬁmmmwwmﬁa

Fet? ,

(1) SR = e 2) S Yo A

SR G (4)  Sem R

Which operation wag launched by Punj

ab’s Excise Department in 2020 to curb
related crimes ?

illicit liquor trading
(1) Operation Black Cobra (2) Operation Red Rose
(3) Operation Black Bull (4) Operation Prahar
16. :gaﬁﬁﬁm?@mimw% mwmxwmwm’
@) 143 g (2) 16 weTgew
G) 24 weTge (4) 39 Tegewh
Which of the following amendments Imposed restrictions on the Fundamental Rights of the citizens
to protect the sovereignty and Integrity of the country ? :
1)  14% Amendment (2) 16% Amendment
(B)  24%™ Amendment (4) 39th Amendment
17.  TTF=M M XVIL T T T Fowht Trowh a2
(1) =oH333 7 341 (2) <o 334342
(3) =oH 332 1 340 (4) oW 343 9 351
What are all the nine Articles covered under Part XVII of the Constitution ?
(1)  Article 333 to 341 (2)  Article 334 to 342
(3)  Article 332 to 340 (4)  Article 343 to 351
18. T WA TR T ey o a6 T
1) 1938 (2) 1939 (3) 1940 ‘(4) 1942 -
In which year the British accepted the demand for making the constituent assembly of India ’
(1) 1938 2) 1939 (3) 1940 4) 1942

F=A1 HHEIE! AN / SPACE FOR ROUGH WORK
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19, TR P ST W FAE TR S YRR e AW ¥ TRt 1930 3 1932 =0 A
gee _ Thons IRusr vuaw ST, |
1) il (2) =X (3) Gkl (4) U=
I —— round-table conferences were held in London from 1930 to 1932 to see how best
Indians could administer their country.
(1) Two (2) Four (3) * Three (4) Five
00, TR U &7 154 FHION Toar=h el = AeAHE LT AT M.
(1) e 2) wfes
@) TET® - (4) At A

According to the article 154 of the Indian Constitution executive power of State is vested in the
handsof . ‘ _ '

(1) Chief Minister s et (2) Council of Ministers

(3) The Governor (4) None of these

71, TS Siredl (e ¢

TR - 1 CowmE-m
(@) &t Tt () T WS AT ARG RS TEdiaid
b) TERW (i) TSTE HEAQT U
© SRERg=T (i) TR wrE FHoaTET STRY 0
) Ae (iv) STEHT HRASIIRG TUREO
i WY - ' ‘

@ @) (9 (d
N Gv) G @ ()
2 (v) @) @@ @
@) @ @ @) @)
@ @ @) @) @
Match the following :
List - 1 List - I1

(@) Habeas-corpus (i)  To transfer a case from lower to higher court
(b) Mandamus (i) To look into legality of a post

() Quo warranto (i) To command authority to Perform.its duty
(d) Certiorari (iv) To look into legality of arrest E

Answer Options :
@ (b) (c) (d)
(v) () (1) (i)
@v) (i) () (i)
@ @) @) (@)
@) ) (@v) ()

1
2
3

— N N N
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FRETE [T St e e

(;)) RS STER ST foeieharg o .

(% fr=m ﬁ""@ﬂaﬁ"‘ﬁm e wfee ol T

®) = S AR gw titution every gram,

@ : ticle 243 E of the Indian .Consha11 contirug €1 &

e e ;:\irfor the time being in force, s

under any

i Its
date of declaration of elecdon results
(1)) :11:: date of declaration of election
2

. i fter electiong
; its first meeting a _
(3) the date a?pou;;egr:t)rﬁ;zndal year after the PanChayat electiong
beginning , L
@ the

Panchayat ¢,

ess dissolved €arljy,
Ve years from

1) e g () % e gy
() =i To iy (4)  Fyor d‘ﬂﬁﬁr
Fundamental duties were included on the recommendg

1) Devraj Committee _ :
() Swarn Singh Committee (4)

(2) Preparation of Gr.
Collection of
4 None of theg

— -
5. Ty o2 S ~”awwqmawwﬁq%%ﬁ%?(sm(w;)0
(1) 423?7%%-1976 (2) 52 o wregERdt ey -
(3) 62 ot Ty

-2002

F - 1995 (4) 86 = wregER e - the list ? (51A(K))
By Which Amendmeng the 17th Fundamenta] Duty was later addeq to :
Amendment Act - 1976

(2) 52" Amendment Act - 198;)
- 200
Amendment Fistiyiggy (4) 86" Amendment Act - 20

am Sabhga Report

5 ' t
Varioug Taxes Prescribed by the Governmen
e
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26. | .
(@) TR ECECE] =
) 188411@617@&83@3@?8@@%
(@ o S graeergy foRar
(d) TR '@ER’ REREEIRSIRE]
et I :
(1) () ST (b) T @) (), (b) 3 () T
@) () (0 3 (d) T () (@) () 3 (d)
Which of the following statements are true about Narayan Meghaji Lokhande ?
@) Founder of Labour Movement ,
(b) Establishment of Bombay mill hands Association in 1884
(©) ‘Raobahadur’ award by the British Government
(d) Establishment of Maharashtra Labour Union
Answer Options : ' :
1) (a)and (b) only (2 (a), (b)and (c) only |
(@) ) ()and(d)only ) (@), () and (d) only
77. Sl ool :
(@) T TEEA @) faE. wreE
(b) A R (i) T @A TR
() I e g (i) FEo© o
(@) FEA A (iv) <TheRT Y
@ () () (d
(1) Gv) @& @) ()
() @) @) @Gv) @)
G) () (@) @ @)
4 @ @) @ @)
Match the following : i1 1 :
E;; iiz:;d and Ayerst's Murder (i) V.D. Savarkar
@ Iusﬁcugaj‘;mil;ara’lt y (u) Anant Laxmart Kanhere
(d) Curzon WylﬁzssMul;iliir (Pl) Ic\idlidan b el
Answer Options : (iv) aphekar Brothers
@ () () (d
@) 6 @ )
& @) @ ) ()
24) () (@) (@) (v)
) @ 6 @) ()
-PT.0.
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28, W foroRuTeR S ST ¢
(a) ’T{m qﬁ% B .
L) e Ui fan
(¢) ¥R A
(d) ol %’H‘«’T@Q
(1) S ST TiT 918
(3) TG W (4) EROn:
Identify the person based on the following description :
(@)  First Journalist in Marathi
(b) The teacher of Prince of Akkalkot
(c) Founder of Marathi Newspapers
(d) Director of Colaba Weather Observatory
Answer Options : ‘ ‘ .
(1) Dadabhai Naoroji - (2) Bhau Daji Lad
(3) Balshastri Jambhekar (4) Jagannath Shankar Sheth,
29. ST TG TS AR A T TR T TS0
(1) T« AhEww A 2) o e |
@) ¥R afrRwe - (4) STRER SR
In which Sessi01i1 of National Congress the two groups came together again ?
(1) Surat Session : (2) Lucknow Session
() Faizpur Session (4)  Allahabad Session
30. 1928"{9:1‘1%611 G S ferameft wRwes sveme HIT B ?
(;) SAETY 2RIk 2) EN TR wE
(3) WT TR (4) e enir
(blv)ho gas e Chairman of firgt All Bengal Students Council held in 1928 ?
@) Jaeveni;anath Tagore (2).  Pandit Jawaharlal Nehru
Yprakash Narayan (4)  Ravindranath Tagore
21 I TR T e Srorg
(1) 7112 iy g (2) = s TR
©) Stz 4 @) e e e
Name the Socia Refor : :
1) Gopal G ormer who got married to a Widow ?
(3) Keshay hHGSh Agarkar (2)  Justice M.G. Ranade Kawe
chandra Sen (4) Maharshi Dhondo Keshav

F=a : |
FTRE 0y SPACE FOR ROyGH WORK
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¢ | FTTAS STRAT TR U :
(a) qﬂﬁﬁﬁ?’%ﬁll@l“llalm v
gﬁﬂ@vﬁ%‘m
mqsqa@iﬂ U
(d) Il G
watdt I :
(1) (2) S (D) TR (2)  (b) S () TR (3) (<) M (d) TR (4) 7@ T sy
Deindustrialization of India in British Period means :
(a) Decline of Handicraft Industry in India
() Decline of Cottage Industry
() Development in rural life

(d) Development in agriculture
Answer Options :

() (@and(®)only (2) (b)and(c)only (3) (c)and (d)only (4) Al of the above

33, e o ‘
(a) FEER (i)  oTERE YeaHT
b) e (i) femmRa
() 3T (i) STSTRIRS T
d TR , (iv) Trar ekt
Tt I
(@ (b) (c) (d)
M) @ @ @) i
@ @ @ @) ()
@) @ @) @@ @
@ 6 @ @) ()
Match the following : : :
Revolt Centre Leadership

(@) Kolhapur Appasaheb Patvardhan
()  Jamkhandi Chimasaheb
() Aurangabad Babasaheb Bhave
(d) Nargund Phida Ali
wer Options ;

@ (b) (c)

EES

[« W

-
/:/-\
< Q

—
N

P P e~ p—
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7 . e S (2) e e
- S (4) TR A |
N the first Indian Lady, who received Degree in Medical Science in America ?
e (2) Anandibai Joshi

1) Supriya Joshi _
ES; Ramabai Ranade (4) Anutai Wagh

awmﬁ@mmmma@mmmmm?

(a) mﬁ?ﬁﬂ TER
() ﬁ’i—‘ﬁﬁﬁq@
(@ TEE A
(d) FEET fram
Tt S _
(1) () 3T (b) (2) () o (d) K
@) (a), (b) 3T () K (4) e Td TR
Which of the following programmes were started by Mahatma Gandhi with Non-cooperatic
Movement ? '
(@) To Propagate Swadeshi
() Hindu - Muslim Unity
(c) Prohibition of liquor
(d) Removal of Untouchability
Answer Options :
(1) (@) and (b) only '@ (0 and (d) only
@) (), (b) and (c) only (4) Al the above correct

35.

36. O ToHra e e 91 ST ShIvT TET TTIH S0 3T 2

(1) ST ' (2) EESE |
() s @ mRTE
Which instituti b - :
) Dl::cat:t;o: 1:vas formed with a view to:provide Political Education to the People ?
(3) Bahi i (2) = Sarvajanik Sabha
ahishkrut Bharat (4) None of these
37. 12 8 1875 TS0 Sreeaisn e wom H13 won?
1) ® |
i (133 :::fna t(ie first Revolt of the Peasants occured on 12th May, 187; 2, ;
(2) Pune (3) Supe @ ‘ Chal.
akan

=1 FHTATATE AN / SPACE FOR ROUGH WoRK



13
.AS TR i R s F16
g (a) sfrare St .
b) T TN THT, TR
@ . S, e o
froereh fayeia, HeEtd e
1) (a) ST (b) T (2) (b) el (c) et
6) (@) (b) 3T () w 4)  (b), (c) o (d) et

Which of the following Famous Personalities were produced by ‘Bharat Sevak Samaj’ ?
(@) Shrinivas Shastri

() Pandit Hridaynath Kunjru, Thakkarbappa

©) N.M. Joshi, Kakasaheb Limaye

(d) Vishnushastri Chlplunkar Keshavrao Bagde

Answer Options :

() (@) and (b) only () (b) and () only

(3) (@) (b) and (c) only - 4)  (b), (c) and (d) only

3, @mmqummwwmmmmw
(1) e " e HiRH
) TFA VIeH HEE
(@) T S stfteeeR HiwH
) e il HeH

Which Commission was appointed by the Bombay Government to inquire into the on going Peasant
discontent in the South ?

(1) Land Revenue Act Commission

(2) Deccan Riots Commission

(3) The Deccan Agriculture Commission
4) Land Owners Commission

. 1918 7% T Aefres* sreqrer FAER TROES SeE I AR
(1) ot amg wemarst (2) < TRy e
() TR TrReTe (4) T e
Who was the President of ‘Asprushyata Nivarak Parishad’ held in Mumbm in 1918 ?

g) Chhatrapati Shahu Maharaj (2) Dr. Babasaheb Ambedkar
) Sayajrao Gaikwad (4) Nanabhai Haridas

o ey PT.O.
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41.

14
Tt e T s S S SR 2 ,

Which of the following state has more geographical area ?
(1) Rajasthan (2) Maharashtra (3) Uttar Pradesh 4)

WIOHPHTR BT T HT M S Q91 S 371 2

42,

1) g () =g (8) ot (4)

Which of the following State Shares its boundary with two Countries ?

(1) Tripura (2) Manipur 3) Mizoram (4)
43.  SiIeT Yo

KRS ) T

(@) SER @) watew

®) FR ()  aifewy

8 o (i) 9. s

T S S

@ ;ron and Stee] Indugh-y Stat

okaro ate
0 o 0 o™
c urkela isha {
(d) Bhadraway; (m) West Benga]
Answer Optiong . (iv) Bihar

(a) (b) (c) (d

(1) (i) (ii) (iif) (lv))
@ ) Gy ) 6
S’) 6 G (i)

ST ey

Andhra Pradesh

Nagalang
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(1) OO, T, MR, ehveR
7) TR, HeSHHR, FRVR, Siahyar
3) TS, FEERYR, WO, Ffahver
)

4) THoOGHTE, HRHYER, HFhYeR, HITeT

Which of the following is the correct descending order of mountain peaks according to their hej ohis
in Maharashtra ?

1) Kalsubai, Salher, Mahabaleshwar, Trimbakeshwar

) Salher, Kalsubai, Mahabaleshwar, Trimbakeshwar

3) Kalsubai, Mahabaleshwar, Salher, Trimbakeshwar

4 Kalsubai, Mahabaleshwar, Trimbakeshwar, Salher

45. SFIOAT 2011 WWWW‘W 3R ?

(1) WEQ () IR (3) e @) o

As per Census 2011, which of the following district has high sex-ratio ?

(1) Satara " (2) Aurangabad (3) Buldhana (4)  Jalgaon

6. mmwmammmﬁa\mmmw

IMAOIR I faee

() wEEl () Sma

(b) ¥ \ () 3w

(€ TSiRad ' (i) TITS

d) =iRd , = ey (iv) TR

it S :

- @ (b) () (d)
O @ @ @ (@)
(@) @ @ @v) ()
@) @ Gv) @ @
@) @) @) @ [

Match the correct pairs of Hot water spring and its locational districts in Maharashtra :

Hot Spring District
(@) Salbardi ‘ @) Jalgaon
(b) Sav (i) Thane
(€) Vajreshwari (iii) Raigad
(d) Changdev (iv) Amaravati

AnSWer Options ;

@ (b) (¢ (g
DO @ @)
@ @ G () (i)
Q@ v @ g
W W @ @ g

v PT.O.
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R ToTgE faammae A Sewer aﬁgglz'l aTrFUII e . : .
47. : ) fEieh
1) e mﬁngw ' (4) SHEMER ST S | o
) e 3llﬁ’l largest and smallest in terms of geographical area in Auranga a adm”ﬁsna,
Which district is lar |
V5L i d Hingoli
dmg?&iangabad and Parbhani (2) nglf;lail‘; badlr;i e
((;; Nanded and Hingoli (4) :
: ) A
48. ‘st ¥ 39 R ﬂ's'm‘;;’lﬂlﬁ *'“‘Wl T Zf)mﬁ e
W . tain ran(ge of Maharashtra ’Asthamba Peak’ is located ? .
A ?11) WhIl\/CIIa:hl:g:‘l: (2) Harishchandra (3) Satpuda (4) Sahyadn
2 ,
Coa @ @) @ 8
gow xsnany districts of Maharashtra have borders with state of Karnataka ?

M s @ 6 @ 7 @ s

b $9 IR WU fondt ? i | % fopn
K ZT 3.2131%@ (2) 43 fafear ®) 34 fafesm 4) 12 fafeer

One inch air pressure means how much ?

(1) 3.4 millibar (2) 4.3 millibar (3) 34 millibar (4) 12 millibay
51. e Ty v . |

(a) wmm#ﬁaﬁammm30°ﬁ-40°wammﬁzwﬁ% SR BrRoftgg o

T Y o : |

(1) 1997 (a) o a2

@) UM (b) T o

() faum () 3T (b) TR s |

(4) o (a) anfey (b) =R g

Observe the following Statements .

(@) The existence of jet streams in 30°
Monsoon winds in Indig,

(b) The Vast Continental areq of India is responsible for blowing of Monsoon winds.
Answer Options ; _

(1) Statement (a) is correct
(2 Statement (b) is correct

(3) Statement (a) and (b)
4) Statement (a) and (

5 . e
to 40° North latitudes belt is responsible for blowing o

are correct
b) are not correct
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A ﬁ/m@mmmmwmm?
2 o AP ©) s (c) iR d) Y
a5
) @F O FR  (2) (o)X @) G)AD TR @) (d)wR
which city/cities in Maharashtra Mumbai-Agra highway does not pass through ?
) Amalner (b) Daund (c) Nashik (d) Dhule
swer Options : | / '
0 @and (b) only (2) (b)only (3) (b)and (d)only (4) (d)only
/'-
W e fasiaR Sl e ;
q) T § 3P 1925 2) g T Pl 1925
p TIATE 1918 | (4) TR T A 1925
The first railway to run on electricity in Maharashtra .
(1) Byculla to Thane 1925 (2) Mumbai to Kurla 1925
(3) Dadar to Bandra 1918 (4) Dadar to Borivali 1925
o TN ICE® =TSt ST v Teist wHs 3 ?
m =R . @ Wa . (3) TR @) <o
Nannaj Sanctuary in Solapur district is famous for which bird ? ‘f
(1) Peacock (2) Rohit (3 Maldhok  (4) Flemingo
(@) Rl AR , ®) HER
(€ =T () ERTETEl RS
T S ' | '
) v @ R (b) @) @@ @ @Fe)
The Jyotiba Mountain in Kolhapur district is recognised as ______—
() . Wadi Ratnagiri (b) Karvir
() Panhala (d) The hill of Kedareshwar
Answer Options : ‘
(1) Only (a) (2) Only (b) 3) (c) and (d) 4) (a)and ()
PT.O.
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18
T R RIS T :
(1) IR SHT DB Bl
(2) WTHRE S HUGTER SHRSAT STl
(3) Rerd v 31w e MR S et 2 |
(4) AR TR IRHS TR TR SR T SR
Repo rate is the rate at .
(1)  Commercial banks lend to public
(2)  The rate which is charged for Government lending

() R.B.L lends to commercial banks
(4) The rate is charged on saving deposits with commercial banks

57.

TEAAT FR ARAN ST RRarers o 2

@) fremm | (b) foemerh SrEfmD
(€ U= F2a Tgeht (d) RviHMe gywron
QI I | | ‘

W) @3 (@) () s ©) @ o) @ (4) (d)
Which of the following is not the reason for Population Explosion in India ?

(a) Iliteracy ‘ (b) The Universalization of Marriage
(c)  Joint Family System ~ (d) Upliftment in Life Style

Answer Options :

0 @amd®) @ ©ad@) . | @ @ ®),(© @ (d)ony

58. T S ft W HI et W o v S ,
(1) -SHaRt 17, 2000 (2 feldWw 30, 2003
(3) I 15, 2005 @ W35, 2004
When was the FRBM Act brought into effect ?
(1)  January 17, 2000 (2 December 30, 2003
(3)  June 15, 2005 (4) July 5, 2004

59.

@19,1969@@1%%%%&%@?

(1) %100 Fi (2) %75 % B) 50 WA 4) 125 59

On July 19, 1969 fourteen commercial banks wit
nationalised, |

(1) 100 crore (2) %75 crore () %50 crore 4)

\ﬁmwﬁmwaﬁ,mv@w

h deposits worth z Or more were

¥ 125 crore

A1 IS AWM / SPACE FOR ROUGH WORK
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W@é (b) wEwfEE Sa=

c) g (d) Hﬁaﬁmm
;ﬂ@aﬁ@mﬁﬁuﬁ/ﬁuﬁaﬁwa@a?

1) @ (2)  (a) 30T (b) @) (@) (b) () (4)
Which of the following is the department of Public Finance ?

(@) Public Expenditure (b) Public Revenue

© Public Debt (d) = Public Health
Which of the above statement/s is/are correct ?

1) Only () (2)  (a) and (b) (B) () (b)and () (4)

/,

Fl6

(a), (b) anfor (d)

(@), (b) and (d)

o1, GO faum foram =

(a) 2011 %A WRAI® BIehEEr S 382 T ARE frariet 2.
(b) 2011 S STTIVHIER <S HERA X 73.0% el

( <o T e wHr Aieeien |t e ogge Ules.
Fhedm I/ T/ e e/ e ?

1) @3ME) (2 WREQ (@) (b)()
Consider the following statements : ‘

(@) The population density of India in 2011 was 382 per sq. km.

@

©
Which of the statement/s given above is/are incorrect ?

(1) (@) and (b) (2) only (9) (3) (b) and (q) 4)

R ()

(b) As per the census 2011, the literacy rate in the country is 73.0 percent.

The sex ratio in the country has always remained favourable to females.

only (a)

62. el SAftHRIa A maﬁg&wwﬁ

(1) @REy, 1980 (2) AT, 1982 (B) VMW, 1979 (4)
Credit Authorisation Scheme was introduced in

(1) October, 1980 (2) August, 1982 . (3) January, 1979 (4)

RN, 1965

November, 1965

63. A AR e weata TIAeH HRO HIOR 2

(1) &gd 7= | (2) @ A e A
@) T G Iufted (4) fa<ira eqawen

Money Market faces shortage of funds due to :

(1)  inadequate saving (2)
(3)

growing demand for cash

Presence of unorganized sector (4) financial mismanagement

T FHT WM / SPACE FOR ROUGH WORK
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1) Q@) @) @ FHEO), @ D @ FH@ 0 @ FEA E)(E

Capital Receipt of State Government includes

(@) Market loans

(b) Borrowing from Central Government .
(c) Small Saving of the public and provident fund contribution
(d) G.S.T. share from Central Government

Which of the above option is correct ?
@) only (o) (d), @ (2) only (b), (a), (d) (3) only (a), (b), () (4) only (d), (b), (q)

65. Wmﬂﬁﬁﬁaﬁ@aﬁrwwm:-

(1) Tf&r (2) @@ () e (4) <EM (IE3AR)
Public Expenditure of any Government shows following trend : :
(1) Constant (2)  Increasing (3) ' Decreasing (4)  Fluctuating

66. RGN T Trdfer svangrE 2011-2012 Hed ﬁvra'T Wit v eqrht 2

(1) 3. Ishadl | (2 SR oweEe et

() . T whrh f @) W TR g

Which Committee was appointed in 2011-2012 to re-examine the issue of poverty ?
(1) S. Chakravarty Committee (2) D.T. Lakdawala Committee

(3) - R.C. Datta Committee 4 cC Rangarajan Committee

67. WWWWWWW'WWW?

(1) 2000 (2) 2400 (3) 2500 @) 2750
How much calorieg does a rural Indian man need from hig daily diet ?

(1) 2000 (2) 2400 (3) 2500 @) 2750

=1 FTHAE W / SPACE FOR ROUGH WORK
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A A T Froren forda el @i S ?
% 0 s TS () e T o e

o e S @) T e §h

By which financial institution, monetary policy is implemented in India 4

) LIC (2) Unit Trust of India

0) Co-operative Banks (4) Reserve Bank of India
69_@:1%6%\?411%@!11% 2 Fuid g Heoda el

1) 1980 - 81 (2) 2014 -15 (3) 1985 - 86 (4) 1989-90

National Oilseeds Development Project (NODP) was launched in the year

(1) 1980 - 81 (2) 2014 -15 (3) 1985 - 86 (4) 1989 -90

7. TS faym fa=md =0 .
(a) T = 3 e e e Fe = T ST
(b) T o A e e e T S HI AR F
@ feas it 2fen Y 1951 Hed S T 3% T e T Fo R0 GE F.
SietE SR,/ /A s 3/ 3T ?
0 @ame @ OFmE @ @O (@ o
Consider the following statements :
(a) Reserve Bank of India use the Dear Money Policy during the period of inflation.
() Reserve Bank of India use the Cheap Money Policy during the period of depression.
() The RB.L started with a Cheap Money Policy with a Bank rate of 3% in 1951.

Which of the statement/s given above is/are correct ?

1) @and(®) () (®)and(© () @and() (4 Alloftheabove
71. SR SRATE 3T SO STl RS .

(1) T FE (FHHR FIE) (2) forga woE

(¢) de | @ R

_areused to know the speed of any vehicle.

(1) Eddy currents (2)  Electric currents

(3) Magnetic induction (4) None of these

FTT FTAS A / SPACE FOR ROUGH WORK
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\

WA 2Neal 25 Wit e oAl SR UG W A HR ¢
1) S T SF® 25 At o,

(2 Tfewem MR @ 25 A oTR,
@) @ 7 W= T gfeves arte SR TRl FH FE wHd T,

(4) =T T iR wada FH ww v T,

A normal eye is not able to see objects closer than 25 cm because :

(1)  the focal length of the eye is 25 cm.

(2) the distance of the retina from the eye-lens is 25 cm.

) g:u eye is not able to decrease the distance between the eye-lens and the retina beyop,
it.

(4) the eye is not able to decrease the focal length beyond a limit.

73.

é@-ﬁawﬁm@amﬁﬁwwmmﬁaﬂﬁ ST R HER Seafeta Srom S
(1) TEEETE () e e @) SUSHINE  (4) W qYe

Whenever there is a relative motion between a source of sound and an observer, there js appar
change in Frequency of a sound emitted by a source and as heard by the observer. This is call

(1) Huygen’s effect (2) Joule's effect (3) Doppler effect (4) Raman effect

74. WMWWHWWWWWWW%%?
() Au (2 Pt aB) Ag (4) Hg
Which of the following element was responsible for Minamata epidemic caused in Japan ?
(1) Au (2) Pt | () Ag (4) Hg
75. PR T=iaonEeg k| FH TR 3.
(1) spxd () sp2d? () sp3d? (4) sp’d
Phosphorous pentachloride formed by hybridisation.
(1) spd (2) sp2d2 (3) sp3d2 (4) spd
76. WW%WWWMWWW n=2Il=0m=0s= %“@ﬁ

RAqES_ amiw
(1) fofazm (2) Afferm (3) sRA (4) TEIH

If the valence shell of an element has only one electron having the following set of quantu™

numbers : n= 2,/ = Om=0,g= +%, then the element is

(1) Lithium (2) Beryllium (3) Boron (4) Hydrogen

F HHEIS AT / SPACE FOR ROUGH WORK
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A Fig
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77 A T B
(a) ﬁﬁm (l) W
B T (i) e
© & (iii) eTEHfHa
qatet S
i @ ® © @
0 @ 6 @ @
@ 6 @ @ @
L0 0 O G @
e ® ™ 0 G
| Match the following : v
t; Group ‘A’ _ Group ‘B’
15 (@) Salamander (i) Poikilothermic
(b) Duckbilled Platypus (ii) Sanguivorous
() Leech : ~ (i) - Asymmetrical
(d) Paramecium (iv) Egg laying mammal
Answer Options : - : o

| @ © © @
o o® 0 @ W
00 m e @
B0 ® @
e e @6 @

O e 2 () wE @) wEd |
In heteroneresis the gonads are developed in the posterior part of the body. These gonads bearing
segments are called :

1) , Epitoke 2) Atoke (3) Heterogany ~ (4) Metaboly
7 WO o wrn s i a2
%)hi ;"T (2) " feny (3) e ()
¥huch of the followin fish belongs to cl i
(1) Shark g ngs to class Osteichthyes ?

Electric ray

(2)  Sting ray (3) Catla @)

PT.O.
w0
HTHTEIS T / SpACE FOR ROUGH WoORK .
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80.  wgfdamey REICRETCE Mo
@) [HH (b) TSR
© oiw (d) st T=.
Tedwt Hrom RRIEVAREEC G YD
D) @ = @) R 2) () wr B) (o) W @ () 3 () e,
—— insecticide ig present in neem plant.
(@) DDT (b) Azadirachtin
(€)  Aldrin | '(d) B.H.C.
Which of the option/s given above is/are correct ?
(1) (@) and ) only (2) (b)only (3)  (9) only 4) (0 and () only
81. % I T ST e s TRV ?
(@) STwrfam (b) SUH
(c) STrRuy - (d) uf¥HrRRTg
FISIHT o ety ey TS 31/ 2 .
WO ) @) 3) ) s ©FR (4) (d) B
A plant that does not produce fruit is called as .
(@) acarpous (b) fertile ‘
(0) apocarpus (d) parthenocarpus

Which of the option/s given above is/are correct ? '

1) () only - (@ (2 and (b) only () (b) and (c) only. 4) (donly
82. Yeto faumier faem =y - . i

(1) Taur 1 s{eR ity fers II & 3R
@) TR 1 anfer feer 1 o
3) < faum 5% smq
(4) <A faum =R ey
Consider the following statements :
Statement I : . Bacillus thuringiensis (Bt) is a microbial pesticide,
Statement II :  Beaveria bassiang is a fungus used ag a pesticide.
Answer Options :
; (1) Statement I is correct and Statement II ig incorrect
| (2) Statement I is incorrect and Statement IT ig correct
] | (3) Both Statements are incorrect
| (4) Both Statements are correct

|
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A
oafen T SR T T Ffon v argeraa frston i o e F16

) oETeTR T i s s o s
@) EEfea B TRWITERH Wi e

@) eIl ST U FOAE S A B

@ () Q) IR

The search for effective Malarial Vaccine is hampered due to the fact that :

83.

1) Plasmodium lives inside cells hidden from immune response
@ Plasmodium changes its surface proteins

(3) Plasmodium requires two hosts to complete life cycle

(4) Both (1) and (2)

Wﬁmmmmwmﬁﬁ@ﬁmwﬁmwm7
(1) ferpErEE (2) WHEESE (3) 3feiftRed (4) SEifFe
Which of the following WBC type has lowest percentage in blood of healthy human ?

(1) Lymphocytes (2 Monocytes (3) - ‘Eosinophils (4) Basophils

g5, T RIS A T i 2 ks

(a) TR AER WM oo (b) TEIHS TR HE
(0 W HOw FE | (d) e e FE
gt 3

(1) = (a) S0 (b) @ () e (d)

How does Insulin reduces blood glucose ?

(@) Promoting uptake of glucose (b) ~ Glycogen formation

(c) Protein synthesis (d) - Fat storage

Answer Options : W O o), © and ()

(1) (a) and (b) 2) (b)and (d) 3) () and () -
// P.T.0.
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86. SToR e i, T Weite wiatie fafiy arfarean areie. aRomd Ade SO T
TEHOTH IS IS L. WS SR = e i e Wguvl T, Sraorars 94, g9 S 9
T T TR TSI HIAT.
&S T T T SR e AR sy fraer,
(a) TS AR WA FAIH A= W IR qrei=n Teien Ft o,
(b) TS SRS BIOTR TG IV Cehl TS B0 YEuomen e o/,
qgigt I ' :
1) (@ F ®) I Frwd e Jam.
(2) T (a) ®1 Fred wrear A
3) FH (b) T =y e I,
@) (a) T (b) Fi=dent UwEl Forepd e 3 T, |
According to the available data, quantum of pollution caused by various categories of vehicles on
the road of certain city reveals that the private four wheeler vehicles cause the maximum pollution,
this is followed by the pollution caused by the buses, the trucks and finally the two wheelers.
Select the conclusion/s from the following options that/those can be drawn on the basis of these
data. —_— ; _
(@) The number of two wheelers is less than the number of four wheelers plying on the city
roads. : - :
(b)  Pollution caused by a single private vehicle would be more than the pollution caused by any
single bus. ‘ :
Answer Options :
(1) Both the conclusions (a) and (b) can be drawn.
(2) Only conclusion (a) can be drawn.
(3)  Only conclusion (b) can be drawn.
(4) Neither conclusion (a) nor (b) can be drawn.

87. ﬁaﬁamﬁmwm@wmwwwm Tfewdn T Ae wiamdq
e PR 6 ff e, SR A i @ s w20 R e W A R s
aqa?

(1) 10=m (2 11=x (3) 127=m (4) 9=m

A person walks along a road having lamp post at regular intervals. He took 6 minutes to walk

from the first to fourth Jamp post. Atwhich lamp post would the person be if he walked continuously

at a constant rate for 20 minutes ?

(1)- 10th (2) 11th (3) 12th (4) gth
WWW/SPACEFOR‘RQUGH WORK AR N R LN !
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mm@mmm‘m A A A -
. wifesgEn 3T e ST 70%
= wmmmmmmawmﬁmﬁ Wammmé;mm
Wmmmmm wmwﬁ?ﬁsﬁaﬁfwmmmwm%m'
WWWW@WWWWW&?&W@. T T
o, fordiea:  FOTEEA WeFeh AT GROTHERRE S Teroredt vgeht oty 3

g 7
. mwmmwww@mm YT DT A ST i e

FATER a0 el
@ﬁ@wﬁuﬁf@aﬂammsﬁaﬁmﬁw.

Wmmmmﬂwﬁwmmwmw

)
qIfest. .

) mmwmﬁmmmmmmqmmmmq
e Tifest. |

3) mmwmmmammmmﬁammmﬁ@
TSt _

@) mﬁmﬁwwﬁﬁaﬁ@ﬁﬁw%ﬁﬁmmﬁmm;

good source of protein. Due to this about 70% of the

There is an increased demand for fish as itis a
pacity. Aquaculture is

world’s marine fish stocks are now overfished or already fished at full ca
continuously expanded for farming fish for human consumption. But it is necessary to manage
environmental risks associated with fish farming, such as water pollution and transmission of
disease to adjacent wild fish population. For this aquaculture sector needs to device effective and
environment friendly methods of rearing fish species, particularly predator fish like tuna. Wealthy
people are crazy about eating fish like tuna that are fed using marine wild-caught fish and this

puts pressure on oceans.

Select from following statements the most appropriate conclusion of above paragraph.
(1)  Peopleshould be encouraged to adopt total vegan diet in long-term for avoiding environmental
problems.

(2) Aquaculture of predator fishes should be banned for the time being, till other environment

friendly devise is designed for rearing them.
(3) People should be encouraged to consume freshwater fish varieties that are living in lakes and
rivers to avoid pressure on the oceans.

(4)  The farming of only certain kind of varieties is damaging the biodiversity of ecosysterms.

— : PT.O.
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89. VI HiETIRN 39 I AR, WY M 7087 9 I Wedt T, Wﬁwﬁ&n@sﬁwmﬁ
M e el 38 AR e, T 39 IS Ial FH FE 310 ? \

(1) T, ST, 3TEI, WY, Fom
() =, e, 3T, WY, FON
(3) =T, 3T, e, WY, Fwon
(@) =T, T, e, 3T, Foom

considering their jump ?

(1) Mohan, Chetan, Ashok, Naresh, Krishna
(2) Chetan, Mohan, Ashok, Naresh, Krishna
(3) Chetan, Ashok, Mohan, Naresh, Krishna
(4) Chetan, Naresh, Mohan, Ashok, Krishna

90. maﬁmmwﬁvﬁmﬁmwﬁwaﬂﬁrs@mGwmwﬁcﬁ f

f Aj. Vand S are sitting together. If G and V exchange their
t to the given information.

tained as the direction they f

(2) G occupies the middle position,

(1) Positions cannot be ascer ace is not known,

(3)  V occupies the end position.

(4)  An occupies the second position from one of the end.
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91.

92.

93.

29 o XpxF !

xr
m@.m1omﬁaﬁavﬁzﬁm,mm5ﬁamww’mh7;fzf{ Fie
e, T @i fd g ormdie ? T R 5 27
(1) 8 (2) 5 (3) 10 (4) 12
If 10 people can do a piece of work in 5 days, ki
to do the same work, working 5 hours a dZ}Sr ?WOI‘ s day, how long will 2 People take
(1) 8 2 5 3) 10 @ 12
2 5 faem STftn <R 3 farwm fafere v o et vt e e A Tfehehgeen 7o
R FOT T et Wﬁumﬁmmﬁﬁm%mwﬁwzﬁmwm

Frepd T ST &4

(a) TR A TS FTHR TR,

(o) T e T STAEE F 1 R A S A

(Q e SRiEE o SRATE a1 TAleNIIEIe! Tk e,

@ FE aﬁm?:ﬁ ARG I SEFIRS 9 SRAE ag= o hid .
() eI STEqE RS T IR,

Taidt ST

@) ®). () (© (2 (9, (b) (e) @) ©, @, () 4 (b), (D @

Given below are 5 statements followed by options composed of 3 statements put together in a
specific order. Choose the option that indicates logically valid argument. To be valid the gid
statement of the composition should be the conclusion based on preceding 2 statements.

(a) Some vehicles are not hazardous to the environment.

(b) Vehicular traffic leads to emission of carbon dioxide and other greenhouse gases.
() Carbon dioxide and other greenhouse gases are hazardous to the environment.
(d) Some vehicular traffic does not emit Carbon dioxide and other greenhouse gases.
(e) Vehicular traffic is hazardous to the environment.

Answer Options :

1) ®), () () 2) (c), (b), (e) 3 ©@ @ @ o (d), @

Wio Hiawasd weafa=re (7) Sf 4 gaiE fest :

32,‘33f‘37f‘4:6,“‘§)2$,zf ’

() 8 453 @ 87 @) 94 @ %
Replace the question mark (?) by an appropriate alternative in the following series -
32,33,37,46,62, 7

(1) 83 ) 87 @) o4 4 98

P.T.O.
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94. i SIS AT T 60 T SR, T A TUIR 2:3: 4 3 TR, Hatd Toor syfe wafa
e TS W feh! ? RRAS
1) 25 2 3s0d (3) 4o @) 4598

i . Their ages are in the ratio of 2.3 . 4. What i
age age of three person is 60 years 1 4. at is the
g?f?eizszegbehgien the ages of the youngest and the eldest person ?

v (1) 25 years (2) 30 years (3) 40 years (4) 45 years

95. TeaTen faRdy wh et frorwete srgeaten frT 9 sTgen st frmen o= feash finy
TS sraoe Tgeien Fremist 9 Sge wut famer, fT=NS 26 argeen forees e,

«
%& (1) 100 (2 9% (3) 104 4) 92
i’\\\\, A street vendor sold 2 dolls more than half the number of dolls she has on one day. The next day

el she sold 2 dolls less than half of the remaining number of dolls available with her. If she was left

LN with 26 dolls. :
Select the number of dolls she did initially have. /
. (1) 100 (2 96 (3):". 1040t Rinnmiigy © go
\h

9. éﬁﬁ@émsAmmnaaﬁaamwﬁéﬂaﬁMoo TS T 1 G FI0T?

(1) 12 16 @ 912 B) 68 @) 15,20

If the ratio of two numbers is 3 : 4 and the sum of their squares is 400, then which are these
numbers ?

1) 12 16 @ 912 3) 68 4) 15,20

97. %zrarwwﬁazw%aﬁwﬁéﬁmaﬁmﬁ@?ﬁm%ﬂmmwmmmwm?
1 17 @ 20 @) 19 |

Neha's salary wag first reduced b
percent increase in orj

4) 18

: y 10% and then increased by 30% due to upturn. So what
ginal salary ?

1) 17 2 20 @) 19 @) 18

eram/smcsronn \ 4P ;
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(5, ST S 10 kan R o1, AR ot RIS 2k . @ G T TS 2 ke o, o
| o e 7 ki AL T GRS T & S fedton T sin
& \
ae.
@) 13 km (2) 18km
@) 20km @) T mfeden sl Fet v T
South and moves 2 km. He agai
Soma moves 10 km to East and then turns to again turn East and v
2 km. After this, he turns to North and walks 7 km. Then the distance from his starting poi;u:z
the present pointis . -
1) 13km ’ (2) 18 km
() 20km \ (4) Can not be determined from the given data
g9, R TH THA LA, 10 TH 2 TGS el T TR = Feeset o e S A wew
750 3R, W & Wewd feheit 2
1) 75,000 (2 60,000 3) 15,000 (4) 90,000
The difference between the simple and compound interest on a certain sum of money for 2 years at
10% per annum is ¥ 750. What is the sum ?
1) 75,000 (2) 60,000 3) 15,000 (4) 90,000
w0. L 4 1 1 <ifém TR
856 % 592 856 X 264 592 X 264 ‘
) et i 3 0 @ 1 e
) woxs2 @ wex® ®) | fﬂ
1 1 \‘560 dEN .
The value of + 1 - is. - .- L
856 X 592 856 x 264 592 x 264 \
. : S
—_— . L L i o
D wexs2 @ wxo @ 0 @ \53 f
;g
A T )
o5
-00o0- /'
6

! FATHIS AT / SPA
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